oottt

bobooooboooooooooobooooooooooooboooboooooboooboobooooboooon. b
gooooOoOooOoOoOO0O1000000Cauchy DOODOOOQOOOOOOOOOOODOOOOO

1 O0o0ooood

00 1.1 X,YD CO000000,X00 YOOOO @O)f:X—-Yy0OOooo.

1) f0 eeXO0OO0O0ODOOO,000 ¢>0000046>000|z2-a <d00 z€ X0O0OO
If(z) - f(a)l <0 00000000 O0O0O0OOOO.

2)f0 X00O0O0OO «00000000, f00000 (@O0O00)000.

012 ())Y0O COOODOO,X0YOOOoOoooOoooO,zeX O 0000000000 4:X—>Y
O0000O0. 00,000 eeCUOe>00000 0=e¢0000,0|z—a/<dé00 ze X OOO
li(z) —i(a)| =]z —a|<d=c000000.

2)aeCcOoooono, f:C—-CO0000 «000O0O0OO0OO0OOOOOOOODO, fO0O0O0O0OO. 00,0
O0aeeCUOe>00000 6=10000,0Jz—a|<100 2eX 000 [f(2)—f(a)=]a—a|=0<e0
goooo.

3)¢:C—CO c¢(x)=% (>000000)00000 ¢c00000000.00,000acC0e>00
000 6=e0000,0z—a|l<d00 z2€X 000 |e(z) —cla)|=|z2—al=|z—a|<d=c000000.

4)X0000000000000D000. f:X—-X0O flzy=y/2000O0OO fO0O00O0OOOO. OO,
a>0000,000 ¢e>000006>00 %Ta[l %ﬁDDDDDDDD,|x—a|<5DD x=20000
©<a-6<2000 3% <a+a00000, |f(@)-flo)l = |va - Val = J5% < 2 <c000.
a=00000,e>00000 §=e20000, |2|<600 20000 |f(z)— £(0)| = |Va| < V= 0O
go.

o0 1.3 xg,x1,...,2,,... AO0O00O00O0O.

1)a000000.000 e>00000,000 NOOnz2NOOO |z,—al<e0000000000O0
ooogg, xg,z1,.--,%,,... 1 a00000000. 0000 o0 lim 2, 0000, 00 29,21,y Tp,---
oooooo. e

2) xg,21,...,2,,... 0000000000 « 00000, z,21,...,20,... DO0000000O.

3)000 e>00000,000 NOOnm=2NOOO |z,—z,|<e000000000000O0OO0O,
TOy L1y 3 Tyy... O Cauchy OO OO .

gooooO,b0cobobooooobooooog.

0014 X,Y,Z0 CcOO000O00OO.

1)f:X—Y,¢g:Y—-Z0000O0OOO0OOO0O,0000 gof:X—2Z000000.

2) f,g: X - COO0000,aeCO000, f+gaffg: X -—COO00000000. OO, 0
D00 » € X0000 g(2) #0000 £{:Xx - Cc000000. 00, f+g,af, fg, £ 00000

(f +9)(2) = (2) + 9(2), (@f)(=) = af(2), (f9)(2) = f(2)g(2), (£) (:) =4 DpoOODOOOOD,
3)f:X—-YODOOODO. 2eX 000, f(2) = fi(2)+ f2(2)i (fi(2), f2() e R) DDO0O0D0DO0O00DO
ooo fj:X—>R(szQ}DDDDD,fDDDDDDDDDD,fl,fQDDDDDDDDDDDDDDDD
ooo.
4)f: X -YOOOOOOOOO. X 0OOOOOOOO z,21,...,2n,... 0 a € X OOOOOO,

f(z0), f(z1),-- -, f(zn),... O fle)eY ODOODOO.




00 1)a€ X,e>0000000.¢0 fla)0000000000,8 >000w—f)|<& 00 wey
000 |g(w) —g(f(a))| <eDOODDODODDOOO. fO «0000000O0O00,00 60000 6>00
Olz—a|<600 2 X000 |f(z)— f(a)| <¥00000000000.000,0|2—al<600 z€X 0
00 |g(f(2)) —g(f(a))| <e0DD000000,0000 gof: X »Z0O0000O0.
QaeeX,e>0000000.

01,0 >000z—a| <6 00 2€ X 000 [f(2) = f(a)] < g 0012 —al <600 2€ X 000
19(2) = g(a)] <100 [g(2) — g(a)] < 35550 0000000000.6>00 66,6, 00000000,
l2—al <000 2€ XOOOO, |(f+9)(2)—(f+9)(a)| = [f(2)— fla)+g(2)—g(a)| = | f(2)—f(a)|+]g(2) —g(a)| <
sra@] T ey < € 000,00 |g(2)] = |g(2) —gla)l + lg(a)] < 1+g(e)) DODOOODOOOO,
[(f9)(2) = (f9)(a)] = |f(2)g(2) — f(a)g(z) + f(a)g(z) — f(a)g(a)| = |f(z) — f(a)llg(=)| + | f(a)llg(z) — g(a)] =
$+1f(a)l sy <¢ 0000000 f+g¢ fg000000000. 000 ¢g00000 00000000
0OooO00O000,(1.2)02) 000 of 000000000000.

0000 € X 0000 gz) #0000. 000 gla) #0000 6,6, > 000|z—a| < 6 O
0 ze€ X000 |f(2) — fla)] < ﬂiﬁ;& 0,0/z-al <6 00 z€ X000 |g(2) - gla)| < 2 O

0 |g(2) — g(a)| < ;lgf;ngDDDDDDDDDDD. §>006<6,6,00000000, |z—a <34

00 z e X 0000, |ga)] £ | () 9(2)| + l92)| < 29 +19(z)] DO |g(2) > Y poODOOOO
oy (f _ f@g(@)~f@gla)~F(@)g(2)+f(@gla)] < 21f(z)=F(@)llga)+2|f(a)llg(z)~g(a)]
ggoogoo s (g) (g) ( )’ - lg(2)g(a)] § lg(a)]? <
lg(a)l lf(a)] _ ‘.
T + pakdy < §+§=c000. 000 L: X > cODDOOD.
3) fi(2) = 5(f(2) + [(2)), fo(2) = 5:(f(2) = f(:)) DO DO ¢ 0 (12)0 3) 0000000 fi = 3(f + cof),

ﬁ:%(f—cof)DDD.fDDDDDD )00 cof 00D0DDOO,2)000 £, £000000.00 f, fa
oooooo f=f+4f000,2) 000 fO000000.
4)000e>000006>000z—a|<d00 2eX 000 |f(2)—f(a)|<e00ODO0O0O0O0OO,O0
O000rn2NOOO |2,—-a<é00000000 NOODOOO,n=NOOO |f(za)— fla) <eDODD.
000 f(z), f(z1),...,f(zn),... O f(&) 0000000 DOO0O0OO. O

0 1.5 ag,ai,...,a, €CO0, f:C—CO f(2) =anz" +an_ 12" 1 +--+a1z+a 00000 fO0000O
oo.

00 (1.2)0 1)00 zeCO 20000000000000000, (1.4)0 2)00000,k000000
0000 20 200000000000000000000. (14)02)000,0 k=1,2,...,n000 2
0 a-00000000000000.000 (1.2)02)000 20 00000000000000,00
(14)0 2) 00000 fO0O00O0OOO. 0

gboboobooobooobooobooooooboooobooo,ooboooo0ooboooooooobooobboonn
gbooooobooo,ocobooboooobooobooon.

00 1.6 (000000)000 20,21,...,2n,... 0 Cauchy00O000000.

00 1.7 20,21, %ny-r- O Y0, Y1s-+s8ns-.. 00000000000, 0000 n 0000 2, <y, 000
lim z, < hm y, 000O.

n— oo

o0 lim z, = «a, limyn:ﬂDDD a>p300000.000 N, N, OOn2>2N, 000 |xn—a|<d
O,0n=N, 000 |yn—a\< e fQpoOoO0oO000000On0,NO N, N,0OOOD (000000)0
DDD,ngNDDD——B<xn7aDDyn ﬂ<aTﬁDDDD[I.DDEIDyn b <, 0000,

<y, 0000000000, (|

00 a,b(a<b) 000, (a,b), [a,b) 0000000000 {zeRla<z<b},000 {zcRla<z<b}
00000000.000000000,0000000000.



00 1.8 (000000) f:[a,b) -~ ROO0000D f(e) 0 f(b) 000000000 yOD00, f(c)=y00O
Ocela,b) 00000,

00 pg€la,d) 0000 yO f(p) O f(ggDODOODD,y0 f(p) 0 f(B3H) D00 f(BH4) 0 f(g) DODO
000000000.000,u(p,q) DO00000 u(p,g) =324, 000000 ulp,g)=22000000.
0000, ju(p,q) -2 =142l 000,y 0 flulp,q) - 520 fulp,q)+'“2Hyoooooooooooo.
OO0 29, T1,---3Tn, - - - DDDDDDDDDD.xoza,xlzb,xgz%ﬂ’ljljlj,[l[l[l[] T, L1y y Tp—1
(n23)00000000000000O00O0ODOOO0.

(1)i=0,1,...,n—20000 |21 — 4| = 2.

(2)i=2,...,n—10000 y0O f(z — &%) 0 f(z; + 2=%)00000.

Ty = W(Tn-1 — 2%, 2y 1+ %) 0 2, 00000, 000000000 |z, — 2n| = 2% 000,y O

flan — 290 fa, + in)DDDDD 00000000000 Cauchy 0000, OO0, |Zpk — 2a| <
k—1 k—1
S i — Tnas] = 2n+1<22n+1:2n1DDDDD (16)00000000000, lim @, =c 00

n—oo

=0 =0

00, #,21,... 000000,0000000 [0,b) D0DO0DO (1.7) 00 c€fa,b) 0OD.

f(c):yDDDEIEIDDDDD.(y—f(xn—2n1))(y f(xn—|—2n1))<0D|]|]|]D n000000D00,
n—oo000 &, — 2% 2, + 2% —~ c000 (14)0 4) 0 (1.7) O (y—f(c))2§0DDDDD.DEID,
fley=yOQOO. O

00000000000000000000O0.
00 1.9 f:la,b) » RODO0,0000 z€(a,b] 0000 f(z) 000000, fO000000000.
00 1.10 zg,21,...,2n,... 0000 [0,b] 000000000000, 0000000000.

oo ooo Po,P1y---3Pjs--- DDDDDDDDDDpoza,plzb,pgz‘%rl’DDD,DDDD Po,P1s---,DPj—-1
(jz3)0OOoOooOoUOOODOOUDOOOOODOODOO.

(1)i=0,1,...,5—20000 [pis1 —pi| = 52
(2)i=2,...,j—-10000 z,€[p;— &% pi+ 274|000 nO000O0O000ODO.

[pj—1 — &%,p;—1] 000 [pj_1,pj—1 + 2% 00000 n 0000 2, 00000,00000000 p; =
pj-1— 2%, 00000000 p; =pj1 +5% 000 p; 0000. OOOO, |p; —pj—1| = &% 000,
T, € [pj — &%,p;+ 24000 nO0000OOOOO.
ng=0,m=100,000 ng<my <--<mnj_1 0 ap, € [piy1 — 52 pi1 +52] (i=1,2,...,5—1)00
00000000000. pj4, 000000 2, € [pje1 —27(b—a),pjs1+27(b—a)] 000 n 000000
00, zn, € [pj+1— 2]7pj+1+2J]DDDDn]1DDDDDn]DDD D0000000000 Zng, T,
O Cauchy 00O00. 00 |z, —pj41| £ 55 —p|=%2 00

k
Ty = Tyl = Ty — Djkrr + D _(Pjiar — i) F P41 — @
=1
k
[T, — Pjrksr] + Z IPj+1+1 = Pjri| + Pj+1 — Tny
=1

b—a " b—a b—a b-—a
= 2tk ;2341 25 2i—1

o0o.000,(le)000oUuoooog. ]

S100001000000000,Dp?2000010000000000000000000.



00 111 f: D> - CO00000000.000 e>00000z—w| <6000 |f(2) - f(w)]<eODDDO
00000 é>0000.

00 00000000.00000000,00 e>00 0000000000;6>00000000000
Olz—w| <600 |f(2) — f(w)| 2000000000 2,weD?000.6=2""00000|2, —wy,| <27
00 |f(zn) — fwy)] 2000000000 2,,w, € D2 000000, 2, = Ty + Yni, Wy = Uy + Vi
(T, Yy Uy v € R) 0000, 2y, w, € D2 00 24, Y, Un, v, 1000 [-1,1] 000000, (1.10) 0000
00000000000000, Tn,, Yny» Un,, Ve, 0000000000000 ng<ng <---<ng < ---
O000. 000, 24, wn, DDDD,p:kILH;Oznk7q:kILr&wnkDDDD |2Zn |y Jwn, | £ 1000 (1.7)0
O |pl,lgl £1 0000 p,ge D2O0D0. |z,, —wy,| <2 ™ 00000 k0000000000, (1.7)00
p—¢/ 00000 p=q000. f000000 (140 4000, lim f(z,) = lim fwn,) = f(p) 00O
000, |f(zn,) — f(wp,)|2e0000,k—0c 0000 02e>00000000000. O

2 OOooot

00 e:R—S'0 e(t)=cos2rt+isin2rt 0000,1: 8" —{-1} - (-3,3) O

1 ol >
) cos” " x y=0
Uz +iy) = 2771 -1 <

—5-cosx y=0

(z,y€R,2>+y*=1)00000000000000000.

00 21 1)e, 1000000, e(l(z)=2 (z€ 81 —{-1}), l(e(t)) =t (t € (—%,2)).
2)s,t e ROODO, e(s+1t) =e(s)e(t).
3)e(t)=e(s) 000D00D0,t—-s00000000000000.

00 2.2 f:D*—-S'000000000,0000 f:D*—>RO,eof=f00000000000.

00 000000 (1.11)0000Jz-w| <6000 |f(z) - f(w) <200000000 6>0000.
N>lpopoooo NODODOD,000 j=12,...,NO zeD?0000, 42€D?0000000000
O 4z—-F2 =8 <5000 |f(d2) - f(522)| <2000. 000 2,we S 0 |z—w/ <200000
00 2#£-100000000000, gj(2) = f(L2)f(& ) '00ooo,g;,0D*00 S'—{-1} 0000
000,¢;(0)=1000.0000, f(2) = f(0)g1(2)g2(2)---gn(z) DO0DO0 € D20000000OO. O

00, f(0) =e(ty) 000000 t, 000, fO f(z) = toJer(g]( 2))00000,(21)0 1),2) 0000
j=1

e(f(2)) = e(to + évf 1(g;(2))) = e(to)e(l(g1(2))) - - - e(llgn(2))) = F(0)g1(2) - - - gn (2) = [(2). 0

j=1
00 23,0 000000000,0000 f:D2—RO e(f(z)=2"(-€5)000000000000.

00 0000 f:D2 - RO e(f(z))=2"(:€8)0000000000000000.000 s€[0,1]00
00, ((2.1)0 2) 00, e(f(e(s)) = e(s)” = e(ns), OO0 g(s) = fe(s)) —ns, 00ODO0 g:[0,1]] = ROD
000,00000,(1)0 3)000000000000. (19000 ¢00000D0O000OOO0ODODOO
00,¢(0)=c0000,0000 se0,1]0000 fle(s)) =ns+c000. 0000 e0)=e(l)=100

= f(e(0) = f(e(1))=n+c¢000,n=00000000,000000. 0

002470 000000000,0000 f:D?2—$'0,0000 z2€5'0000 f(z)=2"00000
oooooo.



000000 f:D*-S'0 f(2)=2"(,€S$)00000000000O000O0O0OO, (22)00,0000
f:D? - RO,eof =f000000000000,000 (23)00000. O

0025720 000000000,0000000 ¢g:D?—-D?20000 g(2)=2"0000 z€D?2000
oo.

00 0000 zeD20000,¢(2)#-,"00000000000,0 zeD?000,9(z)000000 2"00
0000000 10000,000000 $'00000 f(2)000. z=24yi,w = u+vi € C (z,y,u,v € R) 0

000 20 wO0000 zu+yv 0 (2,w) 000, u(z) = %, s(2) = = (2", u(2))++/1 = [272 + (27, u(2))?

0000, f(2) 0 f(z)=2"+s(z)u(z) 00000000, (1.2)0 (14) 000 f:D?—>S'000000. 0O
0,2€8'000 2"eS'000 f(:)=2"000.000 (24)00000. O

00 26 (00000000)000000000 nO00000 2"+ap_ 12" t+--+a1z+a=00,r0
10 |ag|+ai|+---+]ap,—1| D000O0O0O0O0DO0O,0000 +r00000O000OOO0OOODOOOOODOOO.

00 || 2000, |2F Sk L <1 (k=1,2,...,n—1), |ag| + |a1]| + -+ |ap_1| Sr 000

’r

r

lan—12""" 4 tarzt+ag] £ Jan—1|l2" 7+ -+ Jaallz] + |aol
< an1|r™ -+ Jag|r + |aol
_ lai| | aol
= Tn 1 (|an_1|+"'+ 7‘77'_2 +Tn_1
< " Han—1| + -+ Jaa] + laol)
S n

000.000,00 ¢g:D?—-C 0 g(2) =—2(an-1(rz)" '+~ 4ai(rz) +a) 000000, (15000 g
D0D000,000 »eD?20000 |g(z)|£1000.000,¢0 D200 D20000000OO000OO
0,(25)00 g(20) =20 0000 20€D?000.0000 (rz)" = —(an—1(rz0)" 1+ -+ +a1(rzo) +ao) O

b rzxp 00000000000 DOODO. (I

0 27000 ag,as,...,a, 000000 n 0000 apz”+ap_12" 1 +---+az+ag (a, #0)0 10000
an(z —a1)(z—a2)---(z—,) 00O0DO0OOOODO.

00 nO000O0DODDOOD. n=10000,000000000. »n-1000000000000000
0. n0000 ap2"+ap-12""'+ - +az+aq=0000000100000000,00 100 «,0
000,0000000,n0000 apz"+an12" '+ +a24+a 0 22—, 000000. 0000,
anz™ +an_12" V4t a1z +ap = (a2 tal_o2" 2+ +diz+a)) (2 —,) 000000000000,
n—10000 a,2" ' +al, 02" 2+ - +dz+e,0000000000O0ODOO. O



